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Guess Paper – 2010
Class – X

Subject – Science
ELECTRICITY & MAGNETISM  [SET –B]
Q.1  Two fuse wire of the same length are  rated 5A & 20 A .Which of the two fuse wires is thicker  & why?  [1]
Q.2  Why don’t magnetic lines of force intersect each other?
[1]

Q.3  A battery of 15 V is connected in series with resistors of 0.2 Ω, 0.3 Ω, 0.5 Ω, 0.9 Ω and 12 Ω  resp.  Calculate    

         current  through 12 Ω resistor? [1]
[image: image1.png]Q.4   A current is flowing in upward direction on the plane of paper. Find the direction                               ↑ i

          of magnetic field at ‘A and B’  
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Q.5  Calculate the value of resistance which must be connected to a 15 Ω resistance to provide an effective  

         resistance  of 6 Ω. [2]

Q.6  Two coils P and Q are placed as shown in the fig. the coil P is

         connected to battery S and a key K, while coil Q is connected

         to a galvanometer G. what will you observe in the galvanometer G 

         ( i )  when key K is closed  (ii) when key K is open      [2]

Q.7  10​3 electrons pass from a point p to point q in 10-6 s. What is the current ?what is its direction?  [2]
Q.8  Four resistances of 2 Ω each are joined end to end to form a square ABCD .Calculate the equivalent  

         resistance of  the combination between any two adjacent corners. [2]
Q.9 (i) The following diagram shows two straight wires carrying current.  Copy the 
         diagram & draw the pattern of lines of force around them & mark their directions
        (ii) What capacity of fuse is used for electric geyser & bulb? Give one reason [3] 

Q.10 You are provided  number of  resistors each of resistance R. How will you combine them to get the( i )    

           maximum and (ii) minimum   total current? What is the ratio of the minimum to maximum resistance? [3] 
Q.11 (i)  The V-I  graph of two resistors is as shown in figure .Which of the two , A or B 

                 represents the parallel & series combination ? Give a  reason .
          (ii) Of the three connecting wires in a household circuit : 

               (a) Which two are at the same potential?
              (b) In which of 3 wires should the switch be connected ? [3]
Q.12 An electrician puts a fuse of rating 5A in that part of domestic  circuit in which a  heater of rating 1.5kW,   

           220V is operating. What is likely to happen in this case and why? What change, needs to be made? [3]
Q.13(i)State the law that governs the amount of heat produced in a metallic conductor when electric current   

             is passed through it for a given time. Express this law mathematically.(ii) Two resistors of  

               resistances 2 Ω   and 4 Ω are, in turn, connected  (a) In series and (b) In parallel to a given battery for  

               the same time interval. Compute the ratio of the total quantity of heat produced in the two cases.[3]
Q.14  (i) What is the function of an electric fuse?  (ii) Name the material used for making  (a) Fuse wire 

                (b) heater element   (iii) On which factor,  the  value of induce current depends?   [3]
Q.15
The diagram below shows a 3 terminal plug socket.


(a)
What is the purpose of terminal E?


(b)
To which part of the appliance is the terminal E connected?


(c)
To which wire L or N, is the fuse connected and why?  [3]

Q.16
In fig. the ammeter A read 0.3 A. calculate:  


(i)   The total resistance of circuit 


(ii)  The value of R.


(iii) The current flowing through R.  [3]

Q.17   (i) An electric bulb draws 24 W when connected to a 12 V  supply . Find the power if it is connected to a 

                 9 V  supply. (ii) Give the appropriate symbols for each of these : (a) a wire joint  (b) closed plug key.[3]
Q.18   A  student has to do an experiment in which  (i) a uniform magnetic field is needed (ii) a magnetic field,  

             having concentric circles ,as lines of forces, is needed.  (iii) a galvanometer needle is to be deflected  

             without using a battery . list his requirements of apparatus needed in each case . Give 1 application   

             each of  the set ups /  principle  associated with  case (i) & (ii)    [3]
Q.19   In the figure shown calculate : 

             (i) The value of combined resistances 
             (ii) The value of R   
             (iii) The current flowing through “R”   [3]
Q.20
You are given following current – time graphs 
              from two different sources: 

(a)Name the type of current in two cases.


(b)Identify any one source for each type of these currents.


(c)What is the frequency of current in case (a) and (b).


(d) Write two differences between the current in two cases.[5]  
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